
1 https://jpw-catalog-qa-b2c-5.corevist.cloud/jwds-2244-conveyor-table-assembly
8/24/25

JWDS-2244 Conveyor Table Assembly
Product Images

https://jpw-catalog-qa-b2c-5.corevist.cloud/jwds-2244-conveyor-table-assembly


2 https://jpw-catalog-qa-b2c-5.corevist.cloud/jwds-2244-conveyor-table-assembly
8/24/25

Description

Index Number Part Number Description Size Qty

1 JWDS2244-201 Belt Motor 1/30HP 115V 1

 JWDS1632-201-1 Carbon Brush (not shown)  2

2 F010839 Socket Head Flat Screw #10 x 32UNC x
1/2IN L 4

3 F010985 Socket Head Flat Screw M6-1.0P x 35L 2

4 JWDS1632-204 Belt Motor Plate  1

5 TS-1522011 Socket Head Set Screw M5-0.8P x 5L 2

6 JWDS2244-206 Drive Roller  1

7 PM2244-130 Oilite Bushing  3

8 JWDS1632-208 Drive Roller Bracket  1

9 TS-2361061 Lock Washer M6 8

10 TS-2246162 Socket Head Button Screw M6-1.0P x 16L 2

11 TS-1521021 Socket Head Set Screw M4-0.7P x 5L 2

12 JWDS2244-212 Conveyor Table  1

13 TS-1550041 Flat Washer 6.5 x 19 x 2T 2

14 JWDS2244-214 Wing Screw  2

15 PM2244-213 Tracker Kit (set of 2)  1

16 JWDS1632-217 Adjusting Rod Bracket  2

17 JWDS1632-218 Adjusting Rod  2

18 JWDS1632-219 Driven Roller Bracket  2

19 JWDS1632-220 E-Retaining Ring ETW-7 2

20 TS-1503031 Socket Head Cap Screw M6-1.0P x 12L 6

21 TS-1504021 Socket Head Cap Screw M8-1.25P x 12L 2

22 TS-1550061 Flat Washer 8.5 x 19 x 2T 2

23 JWDS1632-224 Guide Plate  1

24 JWDS2244-224 Driven Roller  1

25 JWDS2244-225 Conveyor Belt  1

26 JWDS1632-227 Conveyor Motor Label (not shown)  1

27 LM000236 Caution Label – Table Lock (not
shown)  1

https://jpw-catalog-qa-b2c-5.corevist.cloud/jwds-2244-conveyor-table-assembly


3 https://jpw-catalog-qa-b2c-5.corevist.cloud/jwds-2244-conveyor-table-assembly
8/24/25

Additional Information

Stock Number 723540OSK-3

Products in this set

Washer | TS-1550041

https://jpw-catalog-qa-b2c-5.corevist.cloud/jwds-2244-conveyor-table-assembly

